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Name 
 Date 
 Class 

Decimal Ops
STUDY GUIDE
for use after Investigation 3
                1a)  1/7 + 1/8 = _________
1b)   1/7    x   1/8   =      ________
                    1c)      5.4 % of  27 = _________         


 1d)   If a coat is $27.00 and the sales tax is 5.4%, what is the total 
                                    cost of the item? (note:  answer to the nearest hundredths place)

2.
Insert decimal points into the two factors so that each of the following
problems have different factors. (The product should remain 85.05).
       Problem 1
Problem 2
      3 1 5 ×  2 7 = 85.05
3 1 5 ×  2 7 = 85.05

Name 
 Date 
 Class 

Decimal Ops
3.
A winter sports pass at Wood Middle School costs $18. A student without
a pass must pay $1.25 for each event. How many sports events would a
student have to attend to make the pass a better deal?

Attending ____________ sports events makes the pass a better deal.

4.
Aaron has to solve this computation problem: 6.02 ÷ 0.07 = _________.
a.
Write a story problem that would require the given division.

b.
Find the solution.
c.
What does the solution to the division tell you?

5.
Write this decimal division as equivalent whole number division.  Then find the quotient.
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___________________


    

Quotient: _________________
Rewrite as whole # division
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